
Santa has 9 reindeers, and he needs to
divide them into 3 teams to practice flying.
How many reindeers will be in each team?

3 4 5 6

If Sarah wrapped 5 presents on Monday
and 4 presents on Tuesday, how many

presents did she wrap in total?

7 8 9 10

If there are 10 red ornaments and 7 green
ornaments on the tree, how many

ornaments are there in total?

11 13 15 17

If there are 15 candy canes and 3 friends
want an equal share, how many candy

canes will each friend receive?

3 5 6 7
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Solve the word problems below. Color the correct answer from the given options.
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